
OET-031 No. of Printed Pages : 8 

CERTIFICATE IN SHOE LASTING AND 
FINISHING (CSLF) 

Term-End Examination 

June, 2013 

OET-031 : BASICS OF LASTING 
TECHNOLOGY 

Time : 3 Hours 	 Maximum Marks : 100 

Note : Attempt any ten questions. Answer must be given to 

the point. 

	

1. 	What is heat setting ? Give the basic parameter's 
(Temperature, time, steam requirement) of heat 
setting for the following upper materials : 2+4+4=10 

(a) P.U. coated fabric 

(b) Full chrome leather 

	

2. 	Describe in detail the basic part of foot. 	 10 

	

3. 	What is the purpose of solvent for attaching toe- 10 
puff and counter-stiffener ? Write at least three 
solvent used for this purpose. 

	

4. 	Draw outline of an insole, showing the location 10 
and direction's of drafting pulls in lasting 
department. 
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5. 	Tick True (T) or False (F) : 	 1x10=10 
(a) PVC sole is wiped by toluene. 
(b) Wooden last is better than plastic lasts. 
(c) Brass wire brush is used for roughing. 
(d) Latex is used for temporary adhesion. 
(e) A two dimensional form in the shape of the 

foot is called last. 
(f) Moccasins can be made by force lasting. 
(g) A shoe can be made without insole. 
(h) A welt is usually found on a ladies sandal.- 
(i) Polychloroprene can be used to paste 

leather soles. 

(j) Tack's are used for heel nailing. 

	

6. 	What is the relation between toespring and heel 10 

height ? Explain briefly. 

	

7. 	Write down the definition's of the following :1x10=10 

(a) Construction 

(b) Lasting 

(c) Rib Lasting 

(d) Pounding 

(e) Force Lasting 

(f) Tack's and Nail's 

(g) Cement 

(h) Counter / Stiffner 

(i) Sole activation 

(j) Shelf life 
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8. 	What is the purpose of the following : 	2x5=10 
(a) Hot mould in counter moulding machine. 

(b) Cold mould in counter moulding machine. 

(c) Injector in Toe lasting machine. 

(d) T.C.F. in Toe lasting machine. 

(e) Toe band in Toe lasting machine. 

	

9. 	What are direct and indirect construction's ? 10 
Which construction's use the indirect type of 

lasting ? Name the intermediate component's in 

them. 

10. Cross sectional diagram of the following 

construction : 	 2x5=10 

(a) Stuck on construction 

(b) Direct injection process (DIP) 

(c) Stitch down (veldtschoen) construction 

(d) Welted construction 

(e) Moccasin 

11. Write down the operational use of following 

material in the lasting department. 

(a) Buttress Nail 

(b) Ultrasonic Staple 

(c) Wire Staple 

(d) Brass wire brush 

(e) 28 grit emery paper 

2x5=10 
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12. Write the names of chemical's used in the 

following operation. 	 2x5=10  

(a) Solvent based counter/stiffner activation 

(b) P.V.C. sole wiping 

(c) T.P.R. sole priming 

(d) E.V.A. sole priming 

(e) P.U. sole wiping 

OET-031 	 4 



311121-031 

mi k.e:41 	tzbilrk■iii 	VRTUT—TM 

c. ) 

.-14 TitaTT 

2013 

: c,14d +I rich -a ch`l 	31TEITT 

RTRT : 3 Ercl - 	 37fd 17 3Ta5 :100 

TR--q)•* 	Tie ,r-H OFTiqi 

1.   t?   Trgrzt, 

4)1 3-TraTT-*--d-r) F-14--trortAti 311TT 

(a)  

(b) Tic -k11 c,  q( 

2. 	,11IT1717 1417ff 	f"d717 TIta.  

3. tcliF 3 cb13-dt 	 \15 

	t? 	ti -307-4 .k Fri 	 41-r 

fo-N-4 

4. TITI ch 	 -q-974 

ftq14 	fq,11 =1,1 .q76----4 I 

I 
2+4+4=10 

9 -1-f--AtI 10 

1-(1 41cid-e. 10 

FciiiM TF*1 10 

OET-031 	 5 	 P.T.O. 



5. 	 TrriT4 V) 3117 (X) chl f97TT9. ff117).  I 
1x10=10 
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(d) obi -TN 	t 

(e) ch     ti 

(f) 44)0111R-1-1 ch 	 Tyr ci-1111 Tr tlaial 
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7. F-1 --ir(-1F(Act ct 4I0171T fffr-U-4 I 	 1x10=10 
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8. 	fivr 	.*vzi 1-611t? 	 2x5=10 

(a) ch13- 	ffifT. TI 14Pn-f 14 lar 4)(78, 1 

(b) 4-lFc-'1 4-1i1-r 

z1 	 irq119.  7-dtqT{I 

(d) 	T .- 1-9- 1  trJ-#.7cF.1 
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9. 	 ch ,±1,d;17F-T Tql t. ? 	10 

col 	-I  

10. 	F-14-1{4(.1 	 cIr1r1 1--cN .q-91-  1 2x5=10 

(a) TZ-  311i ch,±1c1+1-1 

(b) ( 8 .3-I 	L11 ) 

(c) 813-f (c.-87.1)-1. ) 	 

(d) ch-\90±1-f 

(e) 

11. 	f falTrir 	(Ad 	ti 	r1 t.  

f -r--a-4 I 	
2x5=10 

(a) qe.tt1 

(b) 31Tg1-41f9 

(c) .rzR 

(d) s41N qfzR 

(e) 28 Rte 	47-{ 
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12. 	F-INFORAct -9-rwzrr -44 -9-trr iq 	,,144-14)(-1 	-ri:r cNi 

t? 

(a) cl .-. AiR--  *IT /chldud.& 	iz1*-i 

(b) t. 	a1. 4. Tr'r.--  sq7fitiT 

(c) t.t.3TR. TI-1--  97Fitrr 

(d) ...7. - =i)-.  TrrfitTT 

(e) itf.TI TI)--  Ti 

2x5=10 

    

OET-031 	 8 


	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8

